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EHEE (R+ED0)
38%
= 1 89, 035
2
521, 500
R
5,215 M,/ m2

E a5




g BT 4R A 2024, 3
Z
#4’ <]’) HRHEME AR 2024. 3
TS ALK 1. 000-00000002000
TE# BIERIBEAE TV — N — 7% & LRI
e Hiflf
1 154, 770
Hiflh KL L
FREER
27,195 108, 780
PGl
22,995 45,990
154, 770
Hiflf
154, 770 M=

E a5




A

s BT A A 2024. 3
% & 1 HAATG
= 7H’ ( ) S A H 2024. 3
TS ALK 1. 000-00000002000
ST THATII AR R AN PR
B Hfh
100 4,522
2] s & Hifh & ik 5L
AR HEER
29, 085 46, 536
OV
28, 560 199, 920
EimIEER
22,995 29, 893
FIF L—r 7 L— DEMHEY 78] 25t
43,700 61, 180
R (REED0)
34%
114, 671
2
452, 200
R
4,522 M,/ #m2

E a5




EZEE (1) B 1 4 1 2024. 3

- HRHEME AR 2024. 3
TS ALK 1. 000-00000002000
WA R - s BAERE S
HNE m 2 g5 Hfh
100 401. 2
2] s BT Bk Hifh & ik 5L

AR HEER

A 0. 295 29, 085 8, 580
OV

A 0. 295 28, 560 8,425
EimIEER

A 0. 295 22,995 6,783
Ry Ry (7a—FR) il

H 0. 295 54, 020 15,935
MR (R+E D)

1%
v 1 397
g
40, 120

HAATG
401. 2 M,/ m2

E a5




TR A 1 H it R 7 9 2024. 3
Z =]
= %’\ 7H' ( ) HREME 4 A 2024. 3
TS ALK 1. 000-00000002000
AR SR 22X 1,524 X3, 048 (mm) 4 90H
4 BT e B Hfh
1 3,870
‘ SR s BT Bk Hifh Bl ik 5L
B BRARE R 22X1524X3048mm
e 1 3, 870 3, 870
M (E5H0)
= 1 0
3, 870
R
3, 870 M/

E a5



= E IR A LA 2024. 3
Z &R 1 :
55wk (1) S 4 A 2024. 3
TS ALK 1. 000-00000002000
Kto 5T ®E FA L
BT 4% B Hfh
10 3, 441
2] s BT Bk Hifh & ik 5L

AR HEER

A 0.161 29, 085 4, 682
FERIEER

A 0.161 27,195 4,378
EimIEER

A 0.161 22,995 3,702
KD H 486+ H=1. 08m W=1. 1m

® 10 1, 140 11, 400
Ny 7 Rvidls (7 b—ATER) R

H 0.161 58, 160 9, 363
M R+ ED0)

%
= 1 885
34, 410
R
3, 441 M 48

E a5




A s
&8 1 B AL A A 2024. 3
- 7H’ ( ) HRHEME AR 2024. 3
TS ALK 1. 000-00000002000
KAt H T FRIE 6mAHE x 20mPL T AEYE (1. 0)
BT % B Hfh
10 1,537
SR s BT R Hifh AR ik 5L

AR HEER

A 0.125 29, 085 3,635
FERIEER

A 0.125 27,195 3,399
EimIEER

A 0.125 22,995 2,874
S7FL—rr L—y [EEY 7] 25 tH

H 0.125 43,700 5, 462
M (E5H0)

= 1 0

15, 370
R
1,537 M 48

E a5




A s
&8 1 B AL A A 2024. 3
- 7H’ ( ) HRHEME AR 2024. 3
TS ALK 1. 000-00000002000
KAt H T 2= ema Bz 20mPL T AEYE (1. 0)
BT % B Hfh
10 749.7
SR s BT Bk Hifh & ik 5L
AR HEER
A 0.075 29, 085 2,181
FERIEER
A 0.075 27,195 2,039
S7FL—rr L—y [EEY 7] 25 tH
H 0.075 43,700 3,277
M (E5H0)
= 1 0
7,497
R
749.7 M 48

E a5




e "
S 1 M4 A 2024. 3
- #4' ( ) S A H 2024. 3
TS ALK 1. 000-00000002000
— MRBSET
BT = g5 Hfh
1 1, 110, 252
2] s BT g5 Hiflh &H ik 5L

AR HEER

A 10 29, 085 290, 850
OV

A 20 28, 560 571, 200
PGl

A 10 22,995 229, 950
AET AT — b JISUH
R

7i'e 27 676 18, 252

1,110, 252
R
1,110, 252 M=

E a5




NN
7}3%%7’;’» ( 1 ) HA 5 4 A 2024. 3
HRHEME AR 2024. 3
TS ALK 1. 000-00000002000
ALY — NERERRS
BT = ik Hfh
1 3, 662, 280
SR s BT Bk Hifh Bl ik 5L
AL R 56m3/min
H 18 15, 000 270, 000
T U — 5m3/min
H 18 12, 000 216, 000
ELIE TR 18kPa
H 18 5, 000 90, 000
KERER [(F 1 —Brom o D ERE)] PR T A% RE (1) 13,/15kVA
H 18 1,910 34, 380
H 18 0 0
FEMER () 500%
= 1 3,051, 900
2
3, 662, 280
R
3, 662, 280 M,/

E a5




ZEER (2)

ATt FH 4R A 2024. 3
HRHEME AR 2024. 3
TS ALK 1. 000-00000002000
T = Mg —T 5 — M HIIE L722v BER 7822kg 7431kg 5.6m 3m PUJ5/K7E 2 N
(- KB i B | Y HE HiAl
1 4,006, 600
2] s BT g5 Hifh & ik 5L
HEARER (i B T
A 134 29, 900 4,006, 600
4,006, 600
Hifh
4, 006, 600 M1
ATt FH 4R A 2024. 3
HRHEME AR 2024. 3
TS ALK 1. 000-00000002000
T U— b — A — T S — M FIE L7274 0 5.6m 6m PUJ5/k%E 24 .
(- KB B | HE HiAl
1 1, 704, 300
2] s BT g5 Hifh &H ik L
HERRER (i B T
A 57 29, 900 1, 704, 300
1, 704, 300
R
1, 704, 300 M1

E a5




1238 BT A 4F A 2024. 3
S 2 :
/\7H’ ( ) HREME P4 A 2024. 3
TS ALK 1. 000-00000002000
ERE T Fmks (FL— b —4n 16. 82t 120km N
—F - 2T4 F) Wi | HE A
1 192, 000
2] Bk B g5 Hifh & ik 5L
R
= 1 192, 000
192, 000
Hifh
192, 000 M=
ATt FH 4R A 2024. 3
HHME A A 2024. 3
TS ALK 1. 000-00000002000
EHE THfnks (B THE 0<x X 16. 38t 1. Tkm N
D=100) BT = W HiAl
1 30, 000
2] Bk B g5 Hifh &H ik L
R
= 1 30, 000
30, 000
R
30, 000 M=

E a5




SEZEE (2) B 1 4 1 2024. 3

HRHEME AR 2024. 3
TS ALK 1. 000-00000002000
Ry Ry (7a—FR) il
BT H B Hfh
1 54, 020
2] s BT Bk Hifh & ik 5L

IR (Frk)

A 1 26, 040 26, 040
7

L 119 138 16, 422
Ny 7Ry (Fme—7) [HFEHE . 7 L—ofgeftE]  [1IU8i0. 8m3 (FfE0. 6m3) 2. 9t

H 1.06 10, 900 11, 554
MR (£20)

v 1 4

54, 020

HAATG
54, 020 M/ H

E a5



e
Z Y B AL A A 2024. 3
SHEER (2) S 4 A 2024. 3
TS ALK 1. 000-00000002000
Ry 7R 7iElE (7 —f1ER) R
BT B Hfh
1 58, 160
2] s BT Bk Hifh & ik 5L
T (k)
A 1 26, 040 26, 040
7
L 119 138 16, 422
Ny 7Ry (Fme—7) [HFEHE . 7 L—ofgeftE]  [1IU8i0. 8m3 (FfE0. 6m3) 2. 9t
H 1. 44 10, 900 15, 696
MR (£20)
v 1 2
58, 160
R
58, 160 M/ H

E a5




ZEGE (2) L P4 2024. 3

HRHEME AR 2024. 3
TS ALK 1. 000-00000002000
22 AR
BT H B Hfh
1
2] s BT Bk Hifh & ik 5L
0
Hifh
0 =PE|

E a5
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